SVEJSELEDHOVEDER

A/S DANSK KUGLELEJE CENTER

Tif. 44 843 388 - dkc@dkc-as.dk




D1

Hydraulik-Gelenkképfe Hydraulic rod ends 3
wartungspflichtig requiring maintenance . I -
Gleitpaarung: Stahl/Stahl sliding surface: steel/steel - | -
DIM 150 12 240-4-Mabreihe E, DIN 1SO 12 240-4-series E, i

Form S form S

Material: ST 52-3 material: ST 52-3

L2

Serie/Series WS+C
(GK+DO, SC+ES)

Bezeichnung,/Designation Abmessung/Dimensions mm
s d s T e ), b
Ws10C* 10 -p,002 9 012 24 29 15 T 38,5 15 2
Ws12C* 12 -o.008 10 -0.12 27 34 17,6 8 44 18 L
WS15C** 15 -p,008 12 012 3 40 21 10 51 20 2.5
WS16C** 16 -0.008 14 012 35 46 24 1 58 23 3
WS17C** 17 -0.008 14 012 35 46 24 1" 58 23 3
Ws20C 20 0010 16 -0.12 38 53 275 | 13 645 25 |3
WS25C 25 0010 20 012 45 B4 33 17 7 33 4
WS30C 30 -0.010 22 012 51 73 40 19 81,6 37 4
WS3EC 35 002 25 012 &1 g2 47 21 102 42 4
WS40C 40 -0mz 28 012 €9 g2 52 23 116 48 5
WS4EC 45 002 32 012 7 102 ta 27 128 52 5
WSE0C 50 -0z 35 -0.12 88 112 62 30 144 60 6
WsB0C B0 -001s 44 015 100 135 10 38 | 1675 | 725 8
WST0C 10 0015 49 015 115 160 20 42 196 86 10
WSB0C 80 -0.ms 55 -0.15 141 180 g5 47 231 98 10




[v]]

81
&
Hydraulik-Gelenkképfe Hydraulic rod ends
wartungspflichtig requiring maintenance J1WL.
Gleitpaarung: Stahl/Stahl sliding surface: steel/steal - |
DIMN 150 12 240-4-MabBraihe E, DIM 150 12 240-4-series E, _
Form S form S
Material: ST 52-3 material: ST 52-3
| o, o 9
02
) ) Tragzahlen,/ Radiale Lageruft/ )
Kippwinkel/ Basic load ratings [kMN] Radial intemal clearance Gewicht/
tilting angle Weight d
D: Da = Dyn./Dynamic Stat./Static CN = kg
13,2 3 12 8,15 156 0,023 - 0,068 0,040 10
16 3 11 10,8 216 0,023 - 0,068 0,070 12
18.4 4 8 17 32 0,030 - 0,082 0,120 15
20,7 4 2] 19 36 0,030 - 0,082 0,170 16
20,7 4 10 21,2 40 0,030 - 0,082 0,180 17
241 4 2] 30 B4 0,030 - 0,082 0,260 20
203 4 T 48 72 0,037 - 0,100 0,480 25
342 4 (5] 62 a5 0,037 - 0,100 0,680 30
39.7 4 5] a0 125 0,037 - 0,100 1,03 35
45 4 K 100 156 0,043 - 0,120 1,40 40
50,7 5 T 127 208 0,043 -0,120 1,98 45
56 (5 5] 156 250 0,043 - 0,120 276 50
66.8 5 5] 245 380 0,043 -0,120 4,67 &0
718 (5 5] 315 510 0,055 - 0,142 7.02 70
25,4 5 5] 400 620 0,085 - 0,142 11,09 80

DIC




Hydraulik-Gelenkképfe

wartungspflichtig
Gleitpaarung: Stahl/Stahl
Material: ST 52-3

Serie/ Series WS+N

Hydraulic rod ends

requiring maintenance

sliding surface: steal st
material: ST 52-3

(GF-DO, SCF~ES)

Bazeichnung/Designation

ohne Abdichtung,
without seals

WS15M
WS16N
WS1TN
WS20M
WS2E5M
WS30N
WS35M
WS40N
WS45M
WSE50N
WSE0M
WSTON
WSB0M
WS90M
WS100M
WS110N
WS120M

15
16
17

25

38 &K &

80

100
110
120

0,008
-0.008
-0.008
-0.010
-0.010
-0.010
0.0z
0.0z
0.0z
0.0z
0015
0,015
0,015
-0,020
-0,020
-0.020

0,020

12
14
14
16
20
22
25
28
32
35

49
55

70
70
85

Abmessung/Dimensions mm

s | Dy S
012 A 45 16
-012 | 35 48 17,6
012 | 35 48 17,5
-012 | 38 50 19
012 | 45 EG 23
012 | 51 65 28
012 | B1 83 30
012 | 69 100 35
012 | 77 110 40
-012 | 88 123 40
015 | 100 | 140 50
015 | 115 164 bb
015 | 141 | 180 60
-020 | 160 | 226 65
020 | 170 | 250 70
020 185 | 295 80
020 | 210 | 380 90

D=

18.4
207
20,7
241
293
342
39.7

50,7

66.8
FrE:
89.4
98,1

109.5
11,2
1355

636
59
£9

725
835
102,5
119
132
149.5
170
197
23
263
295
3325
390

Kippwinkel
tilting angle

=

8

=)

m @ = ;n @m @ @ @ =~ = @ @ = ©




Hydraulik-Gelenkképfe

wartungspfichtig
Gleitpaarung: Stahl/Stahl
Material: ST 52-3

DIC

sliding surface: stesl/st
material: 5T 52-3

Tragzahlen/

Basic load ratings [kM]

Dwyn./Dynamic

17
21,2
21,2

30

48

62

80

100
127
156
245
3156

490
&g10
655
8950

Stat./Static

53
Bg
65
67
69.5
118
196
305
386
441
570
724
804
1340
1510
2340
3210

Hydraulic rod ends

regquiring maintenance

Radiale Lageruft,”
Radial intemal clearance

CN

0,030 - 0,082
0,030 - 0,082
0.030 - 0,082
0.030 - 0,082
0,037 - 0,100
0,037 - 0,100
0,037 - 0,100
0,043 - 0,120
0,043 -0120
0,043 -0,120
0,043 -0120
0,055 - 0,142
0,055 - 0,142
0,055 - 0,142
0,065 - 0,165
0,065 - 0,165
0,065 - 0,165

Gewicht/
Waight
= kg

0.230
0,300
0,300
0,350
0.530
0,850
1,50
2,42
3,39
4,24
7,10
10,70
15,10
23,40
33,40
48,50
79,560

15
16
17

25

88 & B8

80

100
110
120




Hydraulik-Gelenkképfe Hydraulic rod ends

wartungspflichtig
Gleitpaarung: Stahl/Stahl
Material: St 52-3

Serie/Series WS+CE-N
(GN+LO)

Bezeichnung/Designation

ohne Abdichtung,/
without seals

WS20CE-N
W525CE-N
WS532CE-N
W540CE-N
WS50CE-N
W563CE-N
WSTOCE-N
WSB0CE-N
WS90CE-N
W5100CE-N
WS110CE-N

requiring maintanance
sliding surface: steel/stesl o1

material: St 52-3 51 17
i
S
i \
Abmessung/Dimensions mm
d S D: I D Sl
20 +002 20 0,021 25 38 50 19 63
25 +0021 25 00 05 46 55 2 |12b
32 0025 32 005 38 65 10 21 100
40 +00%5 40 0025 46 69 00 | & |10
50 +00%s 50 0025 57 88 123 40 1485
63 +0030 63 0030 ol L
10 +0.030 10 0030 19 15 164 85 197
80 +0030 80 0030 91 141 180 @ BO 2
90 +0.035 90 -0.035 99 150 26 6% 263
100 +0035 100 0038 = B Byt B L e
110 +0035 10 -go3s 124 185 205 | 80  332%




Hydraulik-Gelenkképfe Hydraulic rod ends

wartungspflichtig requiring maintenance
Gleitpaarung: Stahl,/Stahl sliding surface: steel/steel o1 s
Material: St 52-3 material: St 52.3 =
IIRAIR
; A
Kippwinkel/ E-asic-lr::n‘:?:lz?:tl:ing-‘; [kN] Fiﬂn:!l::.:;:j iﬁtﬁri??aignm Gewicht/
tilting angle Weight d
= Dyn./Dynamic Stat./Static CN =kg
4 30 74 0,030 - 0,082 0,340 20
4 48 o5 0,037 - 0,100 0,510 25
4 62,5 168 0,037 - 0,100 1,08 32
4 100 268 0,043-0,120 238 40
4 156 362 0,043 -0,120 432 50
4 248 570 0,055 - 0,142 1.51 63
4 315 800 0,055 - 0,142 10,31 70
4 400 874 0,055 - 0,142 14,58 80
4 490 1045 0,065 - 0,165 23,1 80
4 610 1330 0,065 - 0,165 nu 100
4 G55 1490 0,065 - 0,165 48,52 110

DIC




Hydraulik-Gelenkképfe Hyraulic rod ends
wartungspflichtig requiring maintenance
Gleitpaarung: Stahl/ Stahl sliding surface: stealstoal
Material: @ 20 - 80 = C 45 material: @ 20 - B0 = C 45
= @ B0 = Sphiroguss = @ 80 = cast iron

Serie/Series WAPR~N
(GIHR--DO, SIRD+ES)

B[?zgii;:::;if Abmessung/Dimensions mm

Dh:;t:ﬂ‘:;:;“’” d s Jil e i e el i L R e
WAPR20N 20 0010 |16 012 | 50 | 56 | 46 |19 17 | 80 | 25 | 25 | 241 | 17  M16x15
WAPR25N 25 0010 20 012 50 56 46 23 21 80 28 25 203 17 Miexl5
WAPR30N 30 0010 |22 012 60 | B4 50 28 26 | 04 30 32 342 23 M22x1 5
WAPR35N 35 ooz 25 012 70 78 66 30 28 112 38 40 397 23 M28x15
WAPR4ON 40 opi2 (28 012 85 |94 | 76 |35 33 135 45 49 45 | 30 M35x15
WAPRSON 50 0012 35 012 105 116 90 40 37 168 55 61 56 40 M45x15
WAPREON 60 0015 44 015 130 130 120 50 46 | 200 65 75 | 668 53 MS58x15
WAPRTON 70 0ms 49 015 150 154 130 55 51 232 75 86 77.8 60 M65x15
WAPRSON 80 0015 55 015 170 176 160 60 | 55 265 |80 105 894 | 75 M80x2
WAPROON 90 002 60 020 210 206 180 65 60 323 90 124 081 95 M100x2

WAPR100M 100 o020 |70 -0.20 | 235 231 200 | 70 | 85 | 360 105138 (1095|103 M110x2
WAPR110M 110 o020 70 020 265 266 220 B0 74 4075 116 152 |121.2 117 M120x3
WAPR120M 120 o020 |85 -020 | 310 | 340 257 | 90 | 84 | 490 140 172 |[135,5 127 M130x3




Hydraulik-Gelenkképfe Hyraulic rod ends i

wartungspflichtig requiring maintenance \

Gleitpaarung: Stahl/Stahl sliding surface: steel/stesl N

Mateorial: @ 20 - B0 = C 45 material: @ 20 - 80 = C 45 . J .

= @ B0 = Sphéroguss = @80 = cast iron n1 - i
I
: i Tragzahlen/ Radiale Lagerluft/ i
Kippwinkal / Basic load ratings [kM] Radial internal clearance Gewicht/
tilting angle Waight d
o= Dyn./Dynamic Stat./Static CN = kg

a9 30 81.1 0,030 - 0,082 0,430 20
T 48 72 0,037 - 0,100 0,470 25
G 62 106 0,037 - 0,100 0,760 30
(2] 80 153 0,037 - 0,100 1,26 L
7 100 250 0,043 -0,120 2,14 40
5 156 365 0,043-0,120 3,74 &0
5] 245 400 0,043 -0,120 6,34 &0
(5 316 540 0,055 - 0,142 9,52 70
5 400 670 0,055 -0,142 14,07 80
b 480 880 0,055 - 0,142 22,14 80
7 610 1120 0,085 - 0,165 30,34 100
(5 655 1700 0,085 - 0,165 44,50 110
5 aso 2900 0,085 - 0,165 74,41 120

DIC




Hydraulik-Gelenkkapfe

klemmbar

wartungspflichtig
Gleitpaarung: Stahl./Stahl
Material: @ 20 -80 = C 4k

= @ 80 = Sphéroguss

Serie/Seriezs WAPR-U

(GIHRK--DO, SIR--ES)

Bezeichnung,/
Designation
ohna Abdichtung”

without seals

WAPR20U 20
WAPR25U 25
WAPR30U 30
WAPR35U 35
WAPR40U 40
WAPRS0U =]
WAPREOU 60
WAPRTOU 70
WAPRE0U 8O
WAPRS0U a0
WAPR100U 100
WAPR110U 110
WaAPR120U 120

-0,010
-0,010
-0,010
-0.012
-0.02
-0.012
-0.015
-0,015
-0,015
-0,020
-0,020
-0,020

-0,020

16 -

20

22 -

25

28 0

a5

49 -
55 -

60
70
70
85

0,20
-0,20
-0,20

-0,20

Hydraulic rod ends

for clamping

requiring maintenance

sliding surface: steel/steel

material: & 20 - 80 = C 45
= @80 = cast iron

Abmessung/Dimensions mm

| D D S S L

50 56 | 46 19|17 | 80
50 &6 |46 23|21 | 8O
60 64 |50 28|26 W

70 | 78 |66 (30|28 112

85 94 | 76 |35 33 136
105 | 116 90 40 37 168
130 130 120 50 46 200
150 | 154 | 130 | 56 | 61 | 232
170 | 176 | 160 | 60 | 55| 265
210 | 206 180 65 60 323
235 | 231 200 70 65| 360
265 | 266 220 80 74 4075
310 | 340 257 | 90 84 | 490

Ly

25

B8 B

45

65
76

105
116
140

Ds

25
25
32
40
49
61
75
86
105
124
138
152
172

De

241
293
342
39.7
45
56
66.8
178
294
g98.1
109.5
121,2
135,56

LF

17
17
23

S 8 &8 8

75

103
17
127

E

M16x1,5
MiEx1.5
M22x1.5
M28x1.5
M35x1,5
M45x1.5
M58x1,5
MB5x1,5
MB0x2
M1 D2
M1 102
M1 203
M130x3




Hydraulik-Gelenkkapfe Hydraulic rod ends

klemmbar for clamping .
wartungspflichtig requiring maintenance i
Gleitpaarung: Stahl/Stahl sliding surface: steel/steal _ .
Material: @ 20 - B0 = C 45 material: @ 20 - 80 = C 45 %I
= (@ 80 = Spharoguss = @ 80 = cast iron E-i

Tragzahlen/ Radiale Lageriuft”

R . . . Anzugsmoment P
P:Lillmu;::::g Basic Im]ratlngs Hﬂ:ll:; rl:::l:;‘ﬁ| Sﬁhgﬁlfgbgﬁ% t ?;I:t g’r[:;’:'t‘ Ef: lj; G‘-ﬂ:;:?f i
®°~ Dyn/ Stat/ cN [Nm] g
Dynamic Static
9 30 81.1 0,030 - 0,082 MBx20 30 0,440 20
7 48 12 0,037 - 0,100 MBx20 30 0,450 25
6 62 1086 0,037 - 0,100 MBx25 30 0,750 30
B 80 153 0,037 - 0,100 M10x30 54 1,22 35
7 100 250 0,043 -0,120 M10x35 Ea 209 40
6 156 365 0,043 - 0,120 M12x40 100 3.66 50
6| 245 400 0,043 -0,120 M16xd5 280 6,17 60
6| 315 540 0,055 - 0,142 M16x50 2580 9,32 70
6 400 &70 0,055 - 0,142 M20x55 490 13,75 80
5 480 980 0,055 - 0,142 M20x60 490 21,74 90
7 610 1120 | 0,065 - 0,185 M24x65 840 2954 | 100
6| 6556 1700 0,065 - 0,185 M24x80 840 4337 | 110
6| 950 2000 | 0,065-0.165 M24xB5 840 7348 120

DIC




Hydraulik-Gelenkképfe Hydraulic rod ends

klemmbar, DIN 24338, IS0 8982 for clamping, DIN 24338, IS0 6982

wartungspflichtig requiring maintenance , - 13

Gleitpaarung: Stahl/Stahl sliding surface: steel/steel ’ i 1

Material: < @ 80 = C 45 material: < @80 = C 45 LB hl
= (@ B0 = Sphiroguss = @ 80 = cast iron :

Saorie/Series WAPR+~CE
(GIHNRK:+LO, SIQG+ES)

Bezeichnung,”

Designation Abmessung,/Dimensions mm

ohne Abdichtung/
without seals

WAPR12CE* 12 +ome | 12 o018 38 | 32| 32 11 15| 54 |14 | 16 155 17 M12x1,25

d 5 I D D & G L Ly D D« LF F

WAPR1E6CE 16 +0m8 | 16 018 44 | 40 | 40 | 14 (16| &4 (18| 21 | 20 19 Mi141 56
WAPR20CE 20 +o021 | 20 o2 | 52 47 | 47 (17 |19 TF7 | 22|25 25 | 23 |Mi1éx1.5
WAPR2ECE 2L top1 | 25 oo | Gh (BB | b4 | 22 (10| 06 | 27| 30 306 20 (M20x1.5
WAPR32CE 32 +opes | 32 o025 BO | T 66 2B 22 1185| 32 38 37 | 37 |M27«2
WAPR40CE 40 +0025 | 40 025 97 90 B0 33 26 146 41 | 47 46 46 M33x2
WAPREOCE 50 +op2s | 50 025 | 120 (109 96 40 32 1795|560 58 57 | 57 |M42«2
WAPREB3CE 63 +o0020 | 63 030|140 136|114 53 |38 211 62 | 70 715 64 |M48x2
WAPRTOCE®* 70 +o030 | 70 030|160 155|135 &7 |42 245 70| 80 78 | 76 |MGEx2
WAPREBOCE 80 +oo20 | 80 030|180 170 148 67 |48 270 78 | 90 91 | 86 |M64x3

WAPROOCE®* 90 +op3s | 90 035|195 185|160 72 |52 206 B85 100 99 | 91 |M72x3
WAPR100CE 100 +opo3s | 100 035|210 (211 (178 | 86 | 62 | 322 98 (110 113 | 96 |MB0x3
WAPR110CE** | 110 +003s | 110 -023c 235|235 190 88 62 364 |105 125 124 106 M90x=3
WAPR125CE 125 +ood0 | 125 040 | 260 265|200 103 | 72 405 120|135 138 113 | M100x3
WAPR1E60CE 160 +o040 | 160 040 310 326 250 130 82 488 150|165 177 | 126 M125=4
WAPR200CE 200 +o045 200 -048 390 418 320 162 102| 620 195 215 221 161 M160x4
WAPR2Z50CE 250 +o.045 | 250 -048 530 GBO 420 | 192 142| B47 265 300 315 | 205  M200x4
WAPR320CE 320 +o.0s7 | 320 -057 640 TOO 520 260 170| 1015 3256 360 405 260 M250x6




Hydraulik-Gelenkképfe
klemmbar, DIM 24338, IS0 6982

wartungspflichtig

Gleitpaarung: Stahl/Stahl
Material: <= @80 = C 45
= @ 80 = Spharoguss

Kippwinkal/ Easic load ratings
tilting angle

DIC

o=

B A - - T - T - "R - "N - "N - N - YO - "R - SR - S - - A - T - Y

Tragzahlen,/
[kN]
Dyn./  Stat./
Dynamic Static
10,8 245
176 385
30 48
48 78
67 114
100 204
156 310
255 430
315 540
400 695
490 750
610 1060
655 1200
950 1430
1370 2200
2120 3650
3550 8400
6100 BEED

Hydraulic rod ends

for clamping, DIM 24338, 150 6982

requiring maintenance
gliding surface: steel/ stocl
material: < @ 80 = C 45

= @ 80 = cast iron

Radiale Lageruft/

Radial intermnal
clearance

CHN

0,023 - 0,068
0.030 - 0,082
0.030 - 0,082
0,037 - 0,100
0,037 - 0,100
0.043 - 0,120
0.043-0,120
0,055 - 0,142
0,055 - 0,142
0,055 - 0,142
0.055 - 0,142
0,065 - 0,165
0,085 - 0,165
0.065 - 0,165
0.065 - 0,192
0,065 - 0,192
0,085 - 0,214
0,065 - 0,261

Schraube/Scrow
DIM EN 150 4T62-10.9

MEx16
Mex16
MBx20
MBx20
M10x25
M10x25
M12x35
M16x40
h16x40
M20x50
M20x55
M24xE0
hM24xE0
M24x70
M24xB0
M30x100
M3Ex140
M3Ex160

Anzugsmoment
der Schrauben,’

tightaning torque

[Nm]

7
12
30
30
59
b9

100

250

250

490

490

840
840
840
840

1700

2450

2450

Gewicht,”
Weaight
e kg

0,110
0.200
0,350
0.620
1,15
2,18
3.96
6,80
9,60
13,00
19,10
25,00
32,00
45,00
82.50
168,00
425,00
790,00

12
16
20

32

50

70
80

100
110
125
160
200
250
320




Hydraulik Gelenkképfe

klammbar, DIMN 24555

wartungspflichtig

Geitpaarung: Stahl/Stahl

Material: C 45

Serie/Series WAPR--S

Hydraulic rod ends
for clamping, DIMN 24555
requiring maintenance
sliding surface: steal/stesl
material: C 45

(GIHO-K--DO, S1J+ES)

Bezeichnung”
Designation

ohne Abdichtung,

without seals

WAPR125 *
WAPR165 **
WAPR205 **
WAPR255
WAPR305
WAPR40S
WAPRS0S
WAPRGBDS
WAPRBDS
WAPR1005

12
16

100

-0.,008
-0.,008
-0,010
0,010
0,010
0.2
002
-0.015
-0.015

-0.020

Abmessung/Dimensions mm

s I D D= S

10 012 42 | 35 | 35 | B
14 012 48 45 45 11
16 -1z Bt | BB | 13
20 o012 6B 66 62 17
22 -0az |85 | 80 | 77|19
28 012 105 100 90 | 23
35 012 130|120 105 30
44 015 150 160 134 38
56 015 185|205 156 | 47
70 -020 240 240 190 57

&

S:

13
13
17
17
19
23
30
38
47
55

L

59,5
70,5
85,5
1005
125
16b
190
230
2875
360

L

168
20
28
3
35
45
58
68
92

D

17
21

25
30
36
45
55
68
20

D.

15
20,7
241
203
342

45

56
66,8
894

116|110 1095

LF

15
17
19
23
29
37
46
57
64
a0

F

M10x1,25
M12x1,25
M14x1,5
M16x1.5
M20x1,5
M27x2
M33x2
422
M48x2
ME4x3




Hydraulik Gelenkképfe Hydraulic rod ends
klemmbar, DIN 24555

wartungspflichtig

Geitpaarung: Stahl/Stahl

Material: C 45

Kippwinkel/
tilting angle

o =

M o M M =l @ = o

DIC

for clamping, DIMN 24555
requiring maintenance
sliding surface: steal/stesl
material: C 45

Tragzahlan/ Radiale Lagerluft/

[kN]

Dyn./
[hymamic

10,8
1.1
ao
48
62
100
156
245
400

B -

Basic load ratings Radial internal Anzugsmoment

clearance Schraubs/Secraw  der Schrauben/

Stat = DIM EM IS0 4762-10.9 tightg?ihr]]r?-l ]mrqug

Static

17 0,023 - 0,068 MEx12 12
285 0,040 - 0,082 MEx14 12
425 0,040 - 0,082 MEBx16 30
67 0,050 - 0,100 MEBx16 30
108 0,050 - 0,100 M10x20 59
156 0,060 -0,120 M10x25 59
245 0,060 -0,120 M12x30 100
380 0,060 - 0,120 M16x35 250
585 0,072 -0,142 M20x45 490
865 0,085 - 0,165 M24x55 840

e10

Gewicht,/
Weight
=kg

0,120
0,230
0.410
0,660
115
2,08
3.82
172
15,11
271,52

d

12
186
20

30
40
50
&0
80
100




Hydraulik-Gelenkképfe Hydraulic rod ends
schwere Ausfilhrung heavy duty
klemmbar for clamping R
wartungspflichtig requiring maintenance
Gleitpaarung: Stahl/Stahl sliding surface: steal/steal
Material: < @50 = C45 material: < @ B0 = C45

= @50 = Spharoguss = @ 50 = cast iron

Serie/Series WGAS--

nggzgi';ﬁ; Abmeszung/Dimensions mm
e s e s s e e e e e

WGAS2E 25 0mo | 20 002 65 BB 48 23 0 021 95 29 28 | 293 | 30  Mi8x2
WGAS30 30 0mo | 22 012 75 B4 56 | 2B 26 109 34 34 | 342 | 35 | M24x2
WGAS35 35 omz 25 002 90 V8 66 30 28 132 40 45 | 397 | 40  M30=2
WGAS40 40 omz2 | 28 012 106| 94 78 | 36 | 33 156 | 44 GEE| 45 | 48 | M30x3
WGASED EQ0 0mz 35 002 135 116 89 40 36 198 &5 70 | 56 | B6  MB50x3
WGASED 60 0ms 44 015 170 130 118 50 46 240 65 87 | 668 | B4  Me4x3
WGASTO 70 «0ms | 49 005 195 154 128 B& | &1 (277 75 110 | 77,8 | 100 MS0x3
WGASBD 80 oms G55 015 210 176 156 60 55 305 BO 128 | B94 110 M90x3
WGASA0 90 0020 B0 -020 250 210 168 65 | 60 | 3685 90 152 | 98,1 | 130 M100x3
WGAS100 100 0020 70 020 275 230 171 70 65 400 105 170 1095|138 M110x4
WGAS110 110 0020 | 70 -0.20 | 300|264 189 | 80 | 75 | 442 | 115180 1212 145 M120x4
WGAS120 120 0020 B5 020 360 340 243 90 B85 540 140 210 1355|177 Mi150x4
WGAS140 140 -002s | 90 025 420 380 248 110 105 620 185 230 154 190 M160x4d

WGAS160 160 -0o2s 105 -025 460 480 273 110 105 710 200 260 170 | 200 M180x4




Hydraulik-Gelenkképfe

schwere Ausfihrung

klemmbar
wartungspflichtig

Gleitpaarung: Stahl/Stahl
Material: < @ 50 = C45

= @ 50 = Spharoguss

Hydraulic rod ends

heawvy duty
for clamping B

requiring maintenance
sliding surface: steel/steal

material: = @ 50 = C45
= @3 50 = cast iron

Radiale Lageriuft/
Kippwinkel / Basic-limzleligfs [kN] Radial intamal
tilting angle clearance gﬁhéﬁfgm
= Dyn./ Stat./ CN
Dynamic  Static

7 48 82 0,037 - 0,100 MBx20
6 62 122 0,037 - 0,100 MBx25
B 80 177 0,037 - 0,100 M10x30
T 100 287 0,043 -0,120 M12x35
6 156 422 0,043 - 0,120 M12x35
6 245 522 0,043 -0,120 M16x45
8 315 707 0,055 - 0,142 M16x50
6 A00 870 0,055 - 0,142 M20xE5
5 490 1284 0,055 - 0,142 M20x60
7 610 1460 0,085 - 0,165 M20x60
6 655 2024 0,085 - 0,185 M24xT5
6 950 2970 0,085 - 0,165 M24xB5
7 1070 3350 0,085 - 0,165 h30x100
gl 1370 4302 0,085 - 0,165 M30x100

DIC

Anzugsmoment

der Schrauben/

tightening torqua
[MNm]

30
30
&0
100
100
250
250
490
490
490
840
840
1700
1700

Gewicht,
Wizight
=kg

0,580
0,900
1,51
2,51
4,47
7.46
11,30
15,46
27.41
34,28
47,07
85,56
123,50
186,70

d

25

EB8=3888 4K 8

100
110
120
140
160




A/S Dansk Kugleleje Center, Mileparken 29, DK-2730 Herlev, Fax: 44 84 56 20

TIf. 44 843 388 - dkc@dkc-as.dk




